
Math L030, Quiz #4, S E\
Instruct ions: Show al l rk. Use exact unless specif ical ly a to round. Reduce as much aspossible. Besure to an al l  parts of ch  ques t ion .

1,. Suppose that have a  3O%s solution and a 60%
making  ca l l s 125 cups of a sugar solution. How mu
obtain the de solut ion.
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3. Graph the sys

the graph to the r l ight.  Shade
the system. Labei al l  points of i
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solution, but a recipe that you are
of each solution is required to
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4. Simplify the ssions and co bine l ike terms.
a. (2x2 + 7x - L6)
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c. +k27zk2 - +4) -- 8k'+- P-X +l

State the of the
binomia l  or  a  t l ,  or none
a.  2xz -  x3

b. xayz + 16 b+a
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Also state whether the mia l  is  a  monomial ,  a
these.
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d .  h c 2 + q s +Zxq - L9

6. Give two exam of expressiothat are NOT polynomials.

Yrq' , t


